MEDIUM SERIES

TILLER STEERING
1261 SHORT
1262 LONG

Q SHIFT CABLE ASSEMBLY
@\ YAMAHA MODEL Z30M

REF |QTY|PART NO | DESCRIPTION

Fyod 555 CABLE 3 FT MOR 33C SUPREME SHORT
Flo| 5349 CABLE 3 1/2 FT MOR 33C SUPREME LONG
21 | 156 BRACKET CABLE SUPPORT

31| 542 SHIM MORSE A035777

41 1 543 CLAMP CHRYS 1543117

5/ 2 | 561 FIL HD SLOTTED 10-24 X 5/8
61 4 | 635 | /4 WASHER AN960C416

712 | 572 BOLT HEX HD 1/4-20 X 5/8

8|1 2 | 619 NYLOC 10-24

g1 3 | 621.1 HEX NUT 10-32 JAM

10 | 543.1 | CABLE ANCHOR MORSE 36174
L] 2 | 559 FIL HD SLOTTED 10-32 X |
121 2 | 621 NYLOC 10-32

137 | 544.1 | BALL JOINT MORSE 31799-001
t4 1 1 1252 SHIFT LEVER 730

15 1 516 BOLT HEX HD 1/4-20 X |

16| | 5835 BOLT HEX HD 1/4-20 X 1| 1/4
17 2 | 638 WASHER SPRING LOCK 1/4

18] 2. | 628 NUT HEX 1/4-20

191 | | 637 WASHER SPRING LOCK No. 10
20| | 553.2 | BALL END 1/4X10-32 CABLE

6.AUG. 97

- 27 -




